. CHAPTER 6 ANSWERS

(

@ exercises. pp. 306-307

% 2.

L U a8 &

s 085 6. 03

7. 0.09 8 10

s. 18% 10. 40%
. 75% 12. 3%

13. 40% 18. 25%
15. 14% 16. 12.5%
1. % 18. 1

19. 2 R T S
21. 0.16 2. 0.32
23. 1.05 24. 0.001
3. 21% 26. 57%
7. 8% 28. 3.8%
29. 30% 30. 87.5%
31. 275% 32. 0.9%
33. %, 0.08 38. 812
35. L. 0025 36. 3, 3.00
37. 435, 0.0075 38. £, 0.16
39. 255 0.703 s0. 12 0.48
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CHAPTER 6 ANSWERS

@ Exercises, pp. 310-311

2. Possible answer: 40

1. Possible answer: 30
3. Possible answer: 5 4. Possible answer: 15

5. Yes; 35% of $43.99 is close to § of 345, which is $15. Since
$45 - $15 = $30, Darden will have enough money.

6. Possible answer: 4 7. Possible answer: 8
8. Possible answer: 14 9. Possible answer: 7.7
10. Possible answer: $3.45 11. Possible answer: 26 ~
12. Possible answer: 31 13. Possible answer: 70
14. Possible answer: 25 15. Possible answer: 216
16. Possible answer: 8 17. Possible answer: 13

18. Possible answer: 20 \ 19. Beity's Boutique
20. Possible answer: 6.4 21, Possible answer: 24
22. Possible answer: 56 23. Possible answer: 12
24. Possible answer: 48 28. Possible answer: 12
28. Possible answer: 10 27. Possibie answer: 24
28. Possible answer: $1.35 29. Possible answer: 60
30. Possible answer: 30 31. Possible answer: 3
32. Possible answer: 4 33. Possible answer: 72
34. Possible answer: 115 35. Possible answer: 15
36. Possible answer: 12 37. About 26 oz

38. 364.20 39. About 16 hits
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; CHAPTER 6 ANSWERS

(

@ Exercises, pp. 306-307 (continued)

41. 90% 2. 15%
43. 333% 44. 62.5%
43. 0.1% 46. 44.4%
42. 270% 48. 250%
a9. > 50. <

51, < 52. =

83. 35 0.06; 6% 54. 9.3%
53. 6.8% > 6.2% 56. 5, 0.35
57. 80.5% 38 125
59. 144 60. 900
61. 512 " enc

63. H
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CHAPTER 6 ANSWERS

{

@ Exercises, pp. 310-311 (continued)

40. a. Possible answer: 300 people
b. Possible answer: 260 people

41. Possible answer: 600 people

42. a. Possible answer: $11,000
b. Possible answer: $1,000

43. Possible answer: If 3,000 people are surveyed, about how
many people are willing to give out their street address?

44, Possible answer: If you are checking to see whether you
have enough money to buy an item, it is important to
know whether your estimate is too high or too low.

43. Possible answer: Estimate each percent and subtract, or
subtract percents and then estimate the difference times
400; about 160 people.

46. 76.8 471. 1.2

48. 1,340 49. 0.375

50. D 5L H
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CHAPTER 6 ANSWERS

@ Exercises, pp. 314-315
1. 24 2. 152
3. 20 4. 162
5.8 8 14
7. 423 8. 30
9. 171 students 10. 28
18 112 12. 120
13. 3,540 14. 2.9
15. 0.04 16. 515
17. 18 18. 36
19. 13 A 20. 18
21. 1.74 22. 06
23. 396 24. 0.32
28. 124 26. 3,070 Dalmatians
27. 6 28. 40
29. 45 30. 84
31.11.75 32. 118
33. 5,125 34. 225
35. 80 36. 70
37. 120 38. 230
39, 0.61 40. 0.39
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€ exercises, pp. 270-271
1. x = 60 2. p=875
3. m= 164 4 t=2
5.30b 6. x =20
7. h = 144 8.r=65
9. v= 1336 10. x =9
1.t = 36 L s=48
13.n =224 14. 9563 mm

15. 227 grams 16. Possible answer: h = 8;%

17. Possible answer: x = 2; 3%
18. Possible answer: t = 117; Zéa-
19. Possible answer: w = 18; 13

20. Possible answer: y = 8.5;%

21. Possible answer: x = 90; %

22. Possible answer: m = 35; %—9

23. Possible answer: q = 17.4; 281
24. Possible answer: r = 15; %698‘
25. Possible answer: k = 324;2‘,—

. .y o .18
26. Possible answer: p = 45; 7600

. N .10
27. Possible answer: j = 16.5; 33

i .6 _ 10
28. Possible answer:; 6~ 5%
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CHAPTER 6 ANSWERS

@ Exercises, pp. 314-315 (continued)

4L 41 42. 0.68

43. 2.25 grams 44. 3.26 grams

45. 0.98 48. a.35.72
h. $109.67

47. Possible answer: In a class of 30 students, 21 students have
computers at home.

48. ?ossible answer: The student set up the proportion
incorrectly. The student should have used 75 =

49. Possible answer: Either write a proportion and solve, or
write 18% as a decimal and multiply it by 40.

50. 30.31, £6.56; $6.56; 105% of $6.25 is the same as
$6.25 + 5% of $6.25.

51. x = 40 52.c=5
53. =11 54. x =50

58. ]ﬂc—‘%; $1.75 per card

59 words.
56. T min

57. B 58. H

59 words per minute
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29. Possible answer: T“G = % 30. Possible answer: -,55 = %—

; .3 _ 4 g .5 7
31. Possible answer: 75 = 56 32 Possible answer: 6= 3
33. Possible answer: % = ‘9_00. 34. 25 paper clips

38, 3 hours

36. a. Within the Tuesday sample of 100 fish, 4 had been part
of the Monday sample.

50
b
4 _50., _ s

C.’I‘O—O— = ;0 = 1,250 fish
37. 105 oxygen atoms 38. 3.4 quarts
39. 3 km
40. What amount of sautéed fish, in ounces, contains 60 grams

of protein?

41. Possible answer: | got 9 out of 12 questions correct on
a test. | can find out my score by using the proportion

& = i% My score is 75.

Multiply both ratios by b and simplify. Then muitiply both
by d and simplify.
Q-b=§~bora=9§;a-d=9§-dorad=cb,which

42

H

shows that the cross products are equal.
3. y=3 44, n=-13
45. x = 13 6. 5.44
47. 1503 48. 2.828
49. D 50. F
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, CHAPTER 6 ANSWERS

(

1. 25%

3. 18%
5. 60

7. 50

9. 40%
11. 33]%
13. 30

18. 100%

{ 17. 225

19. 300%
21. 22
23. $235.00
28. 176
27. 63.2%
29. 6444
31 62.5%
33. 45 pieces

38. About 700 words

@ Exercises, pp. 318-319

2. 40
4. 200
6. 80%
8. 90%
10. 40

12. 20%

14. 70

16. 662%

18. 120

20. 12.5%

22. 125%

24. 55.6%

26. 68.3

28. 775

30. 1583

32, 4.2%

34. a. 280 people
b. 11 people

368. How many laps is the race?

o £ by Mok, Fintuwe 20q Wiketn,

. CHAPTER 6 ANSWERS
\

@ Exercises, pp. 326-327

{

1. 28%
3. 16.1%
8. $8.60; $34.39
7. 37.5%
9. 366.7%
11, 22.2%
13. $9.75, $55.25
158. $199.75
{ 17. 100%
19. 43.6%
21. 30

23. a. $41,500
b. $17,845
¢ 80.7%
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2. 133.3%

4. 242.9%

& $24.75

8. 137.5%

10. 38.9%

12. 8.7%

14. $17.98, $26.97
16. 56.25 gal

18. 4.8%

20. 42

22. 3325

24. About 131.3%

25. a. About 22,134 trillion Btu
b. About 8,506 trillion Btu

26. 94.8%
28. 30,240 min
4
30. 3
i3
n 2
34. 8

e 3ty 1, Bosbiart el s
[ by

27. 64 pt
29. 40 yd
n. %
12
3. 12
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CHAPTER 6 ANSWERS ’

(

@ Exercises, pp. 318319 (continued)

37. Less than 35; 110% is greater than 100%, so 35 is greater
than the number.

38. She needs to make more than $275,000 per month in

sales.
39. 25 s0. 94
M. 53 M. 3¢
43 A a8 F
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